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0.025 L x0.09 mol/L =0. 00225
mol NaOH  H,SO, 2:1 H,SO0,
0.001125 mol. S SO,
0. 001125 mol SO,
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=¢( CH,C00 ") ¢( CH,COOH) =(0.2x20 -

0.1 x20)/(20 +20 ) =0.05 mol/L K =
¢( CH,CO0 ") ¢(H") /¢( CH,COOH) =2.0x10"°
pH=pK, = -lg H" =4.7 4.7,

pH



Gk

( ) o
NaOH J# I it
2 2
pH pH
K, =c(H")
(A7) /e( HA) .
c( A7) =c( HA) K,
c(H")
6 (2013 10)
0.10 mol/LL.  NaOH
3 . NaOH
pH. ( )
A. (K,)
1.0x10°°
B. 1 x10 *mol/L
C. ( 4.2
~6.3)
D.
SmL “
" K 1.0x10° A
pH =4 HA c(HY)
10 “mol /L ¢(H") =¢(A"7)
K,=c¢(H") c(A") /c( HA) c(HA) =1 x

4] .

10 mol/L B & pH =10
4.2~6.3 cC .
D
Ao
12 ——
11
10
9
pH §
|
o——
5
1
30 2 4 6 8 10 12 14 16
V(NaOHymL
3
7 (2014 11)
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